












ANCHORAGE CHART A. QUALIFIED LOUVER INSTALLATION ANCHOR INFORMATION

ID ANCHOR SUBSTRATE MIN. MIN. EDGE

EMBED. DISTANCE

A 1/4" ITW TAPCON CONCRETE (3.2 KSI MIN) 1" 2 1/2"

B 1/4" ITW TAPCON GROUT FILLED CMU 1 1/4" 2 1/2"

C 1/4" ITW TAPCON WOOD (G=0.42 MIN) 1 3/8" 1"

D #12 WOOD SCREW GRADE 5 WOOD (G=0.42 MIN) 1 3/8" 1"

E #12 TEK SMS GRADE 5 1/8" ALUM. 6063-T5 MIN. - 1/2"

F #12 TEK SMS GRADE 5 1/8" STEEL 36 KSI MIN. - 1/2"

ANCHORAGE CHART B. QUALIFIED MULLION CLIP ANCHOR INFORMATION

ID ANCHOR SUBSTRATE MIN. MIN. EDGE QTY

EMBED. DISTANCE PER CLIP

96" MAX. LENGTH VERTICAL MULLION, 61_5/8" MAX. LOUVER FLANGE WIDTHS

G 5/16" ITW TAPCON CONCRETE (2.9 KSI MIN) 2 1/4" 2 3/16" 4

H #14 WOOD SCREW GRADE 5 WOOD (G=0.42 MIN) 2 1/2" 1" 6

I #12 TEK SMS GRADE 5 1/8" STEEL 36 KSI MIN. - 1/2" 4

60" MAX. LENGTH HORIZONTAL MULLION, 98_1/8" MAX. LOUVER FLANGE HEIGHTS

A 1/4" ITW TAPCON CONCRETE (3.2 KSI MIN) 1" 2 1/2" 4

D #12 WOOD SCREW GRADE 5 WOOD (G=0.42 MIN) 1 3/8" 1" 4

F #12 TEK SMS GRADE 5 1/8" STEEL 36 KSI MIN. - 1/2" 4

ITEM # PART DESCRIPTION MATERIAL

1 4907A FRAME HEAD AND SILL 6063-T5

2 5629 FRAME JAMB 6063-T6

3 4904 TOP BLADE 6063-T5

4 4903 BLADE 6063-T5

5
1/2"-14 ALL THREADED ZINC COATED ROD W ITH W ASHER 

AND NUT BOTH ENDS
AISI 1038

6 8149 1"X2"X1/8"  (VERTICAL REINFORCING) 6063-T5

7 3"X4"X1/8" ANGLE, 3" LONG 6061-T6

8 #10 P.P.H. X 1" SHEET METAL SCEW

9 #8 H.W .H X 3/4" SHEET METAL SCREW

10 1/4"-20 X 3/4" ZINC COATED BOLT W ITH NUT

11 10-0086 2"X6"X1/8" ALUMINUM MULL 6061-T6

12 INSTALLATION ANCHOR, SEE ANCHORAGE CHART A.

13 #12 P.P.H. X 1" TEK SHEET METAL SCEW

14 #12 P.P.H. X 2" TEK SHEET METAL SCEW

15 DOW  795 SILICONE BUILDING SEALANT

16 SLEEVE: 0.85"X11.15"X1/8" FORMED FROM ALUM. SHEET 3003-H14

BILL OF MATERIALS

ANCHORAGE CHART C. QUALIFIED MULLION CLIP ANCHOR INFORMATION

#12 P.P.H. X 1" TEK SHEET METAL SCEW


